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Q1. rf 4A 1 +2A +3r where o=[], l] ,..

Option A: 9,1.2

Option B: 9,15

Option C: 6,3 Si.l::'.i'-'o ',lr .

Option D: 8,i-3

Q2. A test is conrlucted for Hs'. it = 2O with o = 4,
l

a sample of size 36 hc,s 7 = 21.4 then the testsfatfstics js

Option A: 0.35

Option B: 2.1

Option C: 12.9

Option D: 1.29

Q3. [1 0
rrA = lr _l

11 0

0l
O I thenthe miiimalpolynomial is
-lJ

Option A:_

Option B:

f(x): xz - 1

f(x):x2+7
Option C: f (x) =,,x.2 * x -':!-
Option D: f{x);x-t

Q4. The value of the lntegral {}*'1*' - iy)dz along the path y : x is

Option A: 5

6-6

Option B: 1 5,
=*:bb

Option C 1 L

-*:66

Option D !-l
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Th-g rnean and variance of a Binom;atrariateffi
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Option B:

Option C:

Option D:

!
I
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Q7. A continuous random variable X has the following probability density
function f(x) : k(x+ xz), O < x <2 th.enk:

o ion A

o ion B:

o tion C: 4/27

u1.4

Q8. rhe functio n f (z) : G+W hes

Option A: Poles of order 2 at z : -Z and a oforderiatz:l
Option B: Poles o; ord.er Z at z : l and apole,:f order3 at z = 2

Option C:

Option D:

Poles of arder 2 at z = -1, and. apale of order 3 at z :2
Poles of ;rd.

Qe. lf the basic variable satisfies the non-negativity constraint, then solutlon is
Option A:

Option B:

Opiion C:

Degenerate

Feasible

Non-Degenerate
Option D: Non-Feasihle

Q10.

Smokers Non-Smokers Totai

Literates ' 83 57 140

Illiteratesl 46 €,8 1,t4

Total 129 t2s 254

Option A: 2.56

Option B: 9.1691

Oprion C 6.35

Option D 11.31
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Option D:
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Q2(20

MARKS)

Solve any FOUR out of SlX. Each question carries 05 marks q-

:\
1;

A
Verify Cayley-Hamilton theorem for the rnatrix

'[1 2 3l ,f '1.
Ar= 12 -L ""'4 | and henie find A-1

'*'.13 1 '-1J i'i ',. "...

B The average of marks scored by 32 boys is 72 with standard deviation,8 while tha[ of 36

girls is 70 with standard deviation 5. Test at 17o level of significance whether the boys
perform better than the girls.

C Evaluate J" Ldz
{z-1)(z-2)

where C is,the ctrcle lzl :3.'

D

-: '.\

Monthty salaries ci 1000 workers have a normal disiribution with mean 575 and a standard
devlation of 75. Find the nurnber of u,,orkers having salaries between 500 and 625 per

month. Also find ihe minimum salary of the highest paid 200 workers.
!

E Use Kuhn Tucker Mettrod to solve thE NLPP_ '. il.. ..i, - -. i- {., 
:t . -* .},\.' .- a.:: ,, .., 1 .. ! "i , .r r.L]

^"':'--\,\"- .' .rStS . .+
Max z : fvrz::- 7.#t 16;, i ri2.+ tzirir + i . ,". ,

""'.' i.'T:.i"-'"'- .. . ,,r.- ,j : *.".' .-il 
_r . .,.

"*;H" " r'*r";r1lti;:'ii'
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5".:,,-,.

F
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Solve any FOUR out of SlX. Each question carries 05 marks

A rf A-f\ _'n] rindrso ..,i ..1

i

B - aZr d.0
tvaluate JO 5+3sina

,,"\.'...

.1.. 
',\]

C

D

E

F t,y11;;t;; 
ffid, where c ts the;:icte lzl: 1.
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A discrete random variable has the

Find k, rnean and Y3riance,,,1',. 
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x -2 -1 Il'ifl.:r.s' 
^\n ' i".r'....:J..'

r.}.':, li"..\, ..r. i:,) tf?$ ;t
P(X - x) 0.2

"i:"ri.S-i+r..-\ 'i' , .:1 'r'. ? ! .,

.\ i-'a '1' r:1'--\
''1ffi$:'
:..'...' . -::r i!ii+.a.i:

,.'r.,'.ff;1t ;
.. p' " ,. . l:" i:',' '

..::' .:: i \ .: _. ,

'2k

-$: ....' j '', _i+.,... .:. r": ,li:.d!r-i.- :i,'.a a...,'=

and 198.82 respectively.

are 26.94 and 18.73

drawn from the sarne
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Solve any FOUR out of SlX. Each question carries 05 marks ,: .$' ..r.' :' r1*
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A l-e
Prove that ^4 = I -Bl_rc

diagonalizing matrix M.

441
34
B7l

is diagonalizable.

,a

B

C Fit a Poisson distribution to the following datb ;\. ..t.
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D Solve bv Big M Method Max z : 3xr * 2x2,-
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city was found to be 2A,17,12,6,7,15,9,5,L6


